O.P. Malhotra

<u>class-12.</u>

.! -

c

CHAPTER - LG DEFINITE INTEGRALS

Г

$$\frac{fru + i}{(1)}$$

$$\frac{\pi l^2}{\pi h}$$

$$\frac{r}{12} \cot x dx = \log |\sin x| \int_{\pi l + 1}^{\pi l^2} \sin \frac{\pi}{1}$$

$$= \log \sin \frac{\pi}{2} - \log \sin \frac{\pi}{1}$$

$$= \log 1 - \log \frac{1}{12}$$

$$= 0 - \log 2^{-1/2} = \frac{1}{2} \log 2^{-2}$$

$$\lim_{\pi l \le 1} \int_{\pi l \le 1}^{\pi l^3} \frac{dx}{\sin 2x}$$

$$= \int_{\pi l \le 1}^{\pi l^3} \csc 2x dx$$

$$\lim_{\pi l \le 1} \exp 2x = t \Rightarrow 2dx = dt$$

$$\lim_{\pi l \le 1} \exp 2x = t \Rightarrow 2dx = dt$$

$$\lim_{\pi l \le 1} \exp 2x = t \Rightarrow t = \frac{\pi}{3}$$

$$x = \frac{\pi}{3} \Rightarrow t = \frac{2\pi}{3}$$

$$= \frac{1}{2} \sum_{\pi l \le 1}^{\pi l \le 1} \operatorname{cosec} t dt = \frac{1}{2} \log \left| \tan \frac{\pi}{2} \right| \int_{\pi l \le 1}^{2\pi l^3} \pi dx$$

$$= \frac{1}{2} \left[\log \left| \tan \frac{\pi}{3} \right| - \log \right| \tan \frac{\pi}{6} \right]$$

$$= \frac{1}{2} \left[\log \int 3 - \log \frac{1}{3} \right]$$

$$= \frac{1}{2} \left[\log \int 3 - \log \frac{1}{3} + \log \int 3 \right] = \log \int 3$$
[iii] $\int_{0}^{14} (2 \sec^{2} x + x^{3} + 2) dx$

$$= \frac{1}{2} \left[2 \tan x + \frac{x^{4}}{4} + 2x \right]_{0}^{x + 1}$$

$$= \left(2 \tan \frac{\pi}{4} + \left(\frac{\pi}{4} \right)^{4} + \frac{1}{4} + \frac{2\pi}{4} \right) - (2x0 - 0 - 0)$$

$$= 2 + \frac{\pi^{4}}{1024} + \frac{\pi}{2}$$
(iv) $\int_{0}^{\pi} \left(\sin^{2} \frac{x}{2} - \cos^{2} \frac{x}{2} \right) dx$

$$= \int_{0}^{\pi} -\cos \left(2 \frac{x}{2} \right) dx$$
[ii] $\cos 2\theta = \cos^{2} \theta - \sin^{2} \theta$

$$= -\int_{0}^{\pi} \cos x dx = -\sin x \int_{0}^{\pi}$$

$$= -(0 - 0) = 0$$

$$\frac{\cos 2 - \sin x}{2} = \frac{\log \left[2x - 3 \right]}{2} \Big|_{0}^{1}$$

$$= \frac{1}{2} [\log (2 - 3) - \log (1 - 3)]$$

= $\frac{1}{2} [\log (2 - 3) - \log (1 - 3)]$

(ii)
$$\int_{-\frac{1}{2}}^{\frac{1}{2}} \frac{dx}{1-2x} = \frac{(0g(1-2x))}{-2}\int_{1}^{2}$$
$$= -\frac{1}{2}\left[\log (1-6) -\log (1-2)\right]$$
$$\frac{1}{2}\log (2) -\log (2) + \log (2) +$$

$$\begin{array}{lllll} \left| \prod_{T|S}^{T|A} (\tan x + \cot x)^{2} dx \right| \\ = \prod_{T|S}^{T|A} (\tan^{2} x + \cot^{2} x + 2) dx \\ = \prod_{T|S}^{T|A} (\sec^{2} x - 1 + \csc^{2} x - 1 + 2) dx \\ = \prod_{T|S}^{T|A} (\sec^{2} x + \csc^{2} x - 1 + 2) dx \\ = (\tan x - \cot x) \prod_{T|S}^{T|A} (\tan^{2} x - \cot^{2} x) dx \\ = (\tan x - \cot x) \prod_{T|S}^{T|A} (\tan^{2} x - \cot^{2} x) dx \\ = (\tan x - \cot x) (\tan^{2} x - \cot^{2} x) dx \\ = (1 - 1) - (1 - (1 - 1)) (\tan^{2} x - \cot^{2} x) dx \\ = (1 - 1) - (1 - (1 - 1)) (1 - 1) (1 - 1) (1 - 1)) \\ = (1 - 1) - (1 - (1 - 1)) (1 - 1) (1 - 1) (1 - 1) (1 - 1)) \\ = (1 - 1) - (1 - (1 - 1)) (1 - 1) (1 - 1) (1 - 1) (1 - 1) (1 - 1) (1 - 1)) \\ = (1 - 1) - (1 - (1 - 1)) (1 - 1) (1 - 1) (1 - 1) (1 - 1) (1 - 1) (1 - 1) (1 - 1)) \\ = (1 - 1) - (1 - 1) (1$$

$$= \int_{0}^{1} \left[\sec^{2} x - \tan x \sec x \right] dx$$

$$= \tan x - \sec x \int_{0}^{\pi}$$

$$= \left[\tan x - \sec x \right]_{0}^{\pi}$$

$$= \left[\tan x - \sec x \right]_{0}^{\pi} - \left[\tan x - \sec x \right] = 1 + 1 = 2$$

$$\int_{0}^{\pi/4} \sin x \sin 2x dx$$

$$= \frac{1}{2} \int_{0}^{\pi/4} (2 \sin 3x \sin 2x) dx$$

$$= \frac{1}{2} \int_{0}^{\pi/4} [\cos x - (\cos 5x)] dx$$

$$= \frac{1}{2} \left[\sin x - \frac{\sin 5x}{5} \right]_{0}^{\pi/4}$$

$$= \frac{1}{2} \left[\left[\sin \frac{\pi}{4} - \frac{1}{5} \sin \frac{5\pi}{4} \right] - (0 - 0) \right]$$

$$= \frac{1}{2} \left[\left[\sin \frac{\pi}{4} - \frac{1}{5} \sin \frac{5\pi}{4} \right] - (0 - 0) \right]$$

$$= \frac{1}{2} \left[\frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}\sqrt{2}} \right]$$

$$= \frac{1}{2} \left[\frac{1}{\sqrt{2}} + \frac{1}{\sqrt{3}\sqrt{2}} \right]$$

$$= \frac{1}{2} \left[\frac{1}{\sqrt{3}\sqrt{2}} + \frac{1}{\sqrt{3}\sqrt{2}} \right]$$

$$= \frac{1}{2} \left[\frac{3 + 1}{\sqrt{3}\sqrt{2}} \right] = \frac{3}{\sqrt{3}\sqrt{2}}$$

 $= \int_{0}^{\pi/4} \int \sin^2 x + \cos^2 x - 2\sin x \cos x \, dx$

(iv)

$$= \int_{0}^{14} \frac{1}{(\cos x - \sin x)^{2}} dx$$

$$= \int_{0}^{14} [\cos x - \sin x] dx$$
[when $0 < x < \frac{\pi}{4} \Rightarrow \cos x > \sin x$

$$= \sum \cos x - \sin x > 0$$
]
$$= \int_{0}^{14} (\cos x - \sin x) dx$$

$$= \sin x + \cos x \int_{0}^{\pi 14}$$

$$= (\sin \frac{\pi}{4} + \cos \frac{\pi}{4} | - (\sin 0 - \cos 0)$$
)
$$= (\frac{1}{12} + \frac{1}{12}) - (0 + 1) = 52 - 1$$

$$\frac{fm - 4}{2}$$

$$= 1 \Rightarrow \sec^{2} \frac{4}{2} - \frac{1}{2} d\phi = d4 \Rightarrow d\phi = \frac{2dt}{1 + t^{2}}$$

$$= \cos \phi = \frac{1 - \tan^{2} \frac{4}{2}}{1 + \tan^{2} \frac{4}{2}} = \frac{1 - t^{2}}{1 + t^{2}}$$
when $\phi = 0 \Rightarrow t = 0$;

$$\phi = \pi \Rightarrow t = \frac{\pi}{2} \to \infty$$

:

$$= \int_{0}^{\infty} \frac{24t}{1+t^{2}}$$

$$= 2\int_{0}^{\infty} \frac{4t}{5+5t^{2}+3-3t^{2}} = 2\int_{0}^{\infty} \frac{4t}{2t^{2}+8}$$

$$= \int_{0}^{\infty} \frac{4t}{t^{2}+2^{2}} = \frac{1}{2} \tan^{-1} \frac{4}{2} \int_{0}^{\infty}$$

$$= \frac{1}{2} \left[\frac{\pi}{2} - 0 \right] = \frac{\pi}{4}$$

(ii) $T = \int_{0}^{\pi/4} 2\tan^{3}x \, dx$

$$= \int_{0}^{\pi/4} 2\tan^{3}x \, dx$$

$$= 2\int_{0}^{\pi/4} \tan x (\sec^{2}x - 1) \, dx$$

$$= 2\int_{0}^{\pi/4} \tan x \cdot \sec^{2}x \, dx - 2\int_{0}^{\pi/4} \tan x \, dx$$

Inthe tan $x = t \Rightarrow \sec^{2}x \, dx - 2\int_{0}^{\pi/4} \tan x \, dx$

$$\ln t \tan x = t \Rightarrow \sec^{2}x \, dx = 4t$$

$$\sinh x = 0 \Rightarrow t = 0;$$

$$\pi = \frac{\pi}{4} = 5t = 1$$

$$= 2\int_{0}^{\pi/4} t - 2\int_{0}^{\pi/4} \tan x \, dx$$

$$= 2 \int_{0}^{1} t \cdot dt - 2 \int_{0}^{\pi/4} t \cdot dt$$

$$= 2 \times \frac{t^2}{2} \int_0^1 + 2 \log \left[\cos x \right]_0^{\frac{\pi}{4}}$$

= $(1 - 0) + 2 \left[\log \left(\cos \pi \right]_0^{\frac{\pi}{4}} - \log \left[\cos 0 \right] \right]$
= $1 + 2 \log \frac{1}{52}$
= $1 + 2 \log 2 - 112$
= $1 - \log 2$

$$\frac{Amz - S}{(1)} = \int_{0}^{2} \frac{x^{4} + L}{x^{2} + L} dx$$

$$= \int_{0}^{2} \frac{x^{4} - 1 + 2}{x^{2} + L} dx$$

$$= \int_{0}^{2} \frac{x^{4} - 1}{x^{2} + L} dx + 2 \int_{0}^{2} \frac{dx}{x^{2} + 1}$$

$$= \int_{0}^{2} \frac{x^{4} - 1}{x^{2} + L} dx + 2 \int_{0}^{2} \frac{dx}{x^{2} + 1}$$

$$= \int_{0}^{2} (x^{2} - 1) dx + 2 \int_{0}^{2} \frac{dx}{x^{2} + 1^{2}}$$

$$= \frac{x^{3}}{3} - x \int_{0}^{2} + 2 \tan^{-1} x \int_{0}^{2}$$

$$= \left(\frac{8}{3} - 2\right) + 2(\tan^{-1} 2 - \tan^{-1} 0)$$

$$= \frac{2}{3} + 2 \tan^{-1} 2$$

$$\begin{array}{l} (11) \int_{1}^{3} \frac{dx}{1+x^{2}} = \tan^{1} x \int_{1}^{3} \int_{1}^{3} \\ = \tan^{1} \int_{2}^{3} - \tan^{1} 1 \\ = \frac{\pi}{3} - \frac{\pi}{4} = \frac{\pi}{12} \\ (11) I = \int_{3}^{3} \frac{x^{2} dx}{x^{2} - 4} \\ = \int_{3}^{5} \frac{x^{2} dx}{x^{2} - 4} \\ = \int_{3}^{5} \frac{x^{2} dx}{x^{2} - 4} \\ = \left[x - \frac{4}{2x^{2}} - \log \left\{ \frac{x - 2}{x + 1} \right\} \right]_{3}^{5} \\ \left[\frac{1}{2} \int_{2}^{3} \frac{dx}{2^{2} - \alpha^{2}} - \frac{1}{2\alpha} \log \left[\frac{x - q}{1 + 4} \right] \right] \\ = \left[x - \frac{4}{2x^{2}} - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \left[\log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \left[\log \left\{ \frac{x - 2}{1 + 4} \right] \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right] \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right\} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[x - \log \left\{ \frac{x - 2}{1 + 4} \right]_{3}^{5} \\ = \left[$$

$$\begin{aligned} (V) \quad T &= \int_{0}^{q} \frac{dx}{\int ax - x^{2}} \\ &= \int_{0}^{q} \frac{dx}{\int (-x^{2} - ax + \frac{a^{2}}{4} - \frac{a^{2}}{4})} \\ &= \int_{0}^{q} \frac{dx}{\int (\frac{2}{2})^{2} - (x - \frac{a}{2})^{2}} \\ &= Sin^{4} \left(\frac{x - a(12)}{a(12)} \right) \Big]_{0}^{q} \\ &\qquad \left[u_{J}^{q} \int \frac{dx}{a^{2} - x^{2}} = Sin^{4} \frac{x}{a} \right] \\ &= Sin^{-1} \left(\frac{2x - a}{a} \right) \Big]_{0}^{q} \\ &= Sin^{-1} \left(1 \right) - Sin(-1) \\ &= Sin^{-1} L + Sin^{-1} L \\ &\qquad \left[u_{J}^{q} Sin^{-1} (-x) = -Sin^{-1} x \right] \\ &= 2Sin^{4} L = 2 \times \frac{x}{2} = \pi \end{aligned}$$

$$\begin{aligned} fma - 6 \cdot T = \int_{L}^{3} \frac{1}{x^{2} (x+1)} = \frac{A}{x} + \frac{B}{x^{2}} + \frac{c}{x+1} - c(1) \\ &\qquad multiplying both sidul a eqn(1) by \\ &\qquad x^{2} (x+1); we qut \end{aligned}$$

$$I = Ax (x+1) + B(x+1) + Cx^{2} - -(2)$$

Putting x =0 in eqn (2); we have $L = B$
Putting $2C = -L$ in eqn (2); we have $L = C$
Coeff of x^{2} ; $0 = A+C$
 $\Rightarrow A = -C = -1$
So from (1); we have
 $I = \int_{L}^{3-1} \frac{1}{x} dx + \int_{L}^{3} \frac{1}{x^{2}} dx + \int_{L}^{2} \frac{1}{x+1} dx$
 $= -\log [x] \int_{L}^{9} - \frac{1}{x} \int_{L}^{3} + \log [x+1] \int_{L}^{3}$
 $= [\log 3 - \log L] - (\frac{1}{3} \cdot L) + \log 4 - \log 2$
 $= -\log 3 + \frac{2}{3} + \log \frac{4}{2}$
 $= (\log 2 - \log 3 + \frac{2}{3})$

 $= \int_{2}^{3} \frac{dx}{\int -(x^{2}+6-5x)}$ $= \int_{2}^{3} \frac{dx}{\int -\frac{25}{2} - 5x + \frac{25}{4} - \frac{25}{4} + \frac{25}{4}}$

$$= \int_{2}^{9} \frac{dx}{\int -\left\{\left(x - \frac{s}{2}\right)^{2} - \frac{1}{4}\right\}}$$

$$= \int_{2}^{9} \frac{dx}{\int \left(\frac{1}{2}\right)^{2} - \left(x - \frac{s}{2}\right)^{2}}$$

$$= Sin^{-1} \left(\frac{x - S(2)}{1 + 2}\right) \int_{2}^{9}$$

$$= Sin^{-1} \left(2x - S\right) \int_{2}^{9}$$

$$= Sin^{-1}L + Sin^{-1}L$$

$$= 2Sin^{-1}L = 2 \times \frac{T}{2} = \pi$$

$$[(1ii) \quad \overline{\lambda} = \int_{1}^{9} \frac{\log x \, dx}{(1 + x)^{2}} = \int_{1}^{9} \log x \frac{1}{(1 + x)^{2}} \, dx$$

$$= \log \alpha \frac{(1 + x)^{-2 + 1}}{-2 + 1} \int_{1}^{9} + \int_{1}^{9} \frac{1}{x} \frac{(1 + x)^{-2 + 1}}{(-2 + 1)} \, dx$$

$$= -\frac{\log q x}{4} \int_{1}^{3} + \int_{1}^{3} \frac{1}{x + 1 + x} \, dx$$

$$= -\frac{\log q x}{4} \left[(\log q (x)) - \log (1 + x) \right]_{1}^{3}$$

$$= -\frac{1}{4} \log 3 + \log 3 - \log 4^{2} + \log 4$$

1:

$$= \frac{3}{4} \log 3 - 2 \log 2 + \log 2$$
$$= \frac{3}{4} \log 3 - \log 2$$

Ans-7.

$$(11 \int_{0}^{1} x e^{x} dx)$$

= $xe^{x} \int_{0}^{1} - \int_{0}^{1} 1 e^{x} dx = [xe^{x} - e^{x}]_{0}^{1}$
= $(x-1)e^{x} \int_{0}^{1} = (1-1)e^{1} - (0-1)e^{0} = 1$
(ii) $\int_{e}^{e^{2}} \frac{dx}{x \log x}$
full $\log x = t = \frac{1}{x} dx = dt$
when $x = e^{-1} = t = \log e^{-1}$
when $x = e^{2} \Rightarrow t = \log e^{2} = 2\log e^{-2}$
 $(11) \int_{e}^{2} dt = \log (11)^{2}$

$$= \int_{L}^{L} \frac{dt}{t} = (0g(t))_{L}^{2} = (0g2 - 10gL)$$

$$= (09 2 - 0) = (09 2)$$

(iii)

$$\begin{aligned} \mathbf{I} &= \int_{L}^{2} \left(\frac{1}{x} - \frac{1}{2x^{2}} \right) e^{2x} dx \\ &= \int_{L}^{2} \frac{1}{x} e^{2x} dx - \int_{l}^{2} \frac{1}{2x^{2}} e^{2x} dx \\ &= \frac{1}{x} \left(\frac{e^{2x}}{2} \right)_{l}^{2} - \int_{L}^{2} - \frac{1}{x^{2}} \frac{e^{2x}}{2} dx - \int_{l}^{2} \frac{1}{2x^{2}} dx \end{aligned}$$

$$= \frac{1}{2x} e^{2x} \int_{1}^{2} + \int_{1}^{2} \frac{e^{2x}}{2x^{2}} dx - \int_{1}^{2} \frac{1}{2x^{2}} e^{2x} dx$$

$$=\frac{1}{4}e^{4}-\frac{1}{2}e^{2}$$

 $I = \int_{0}^{\pi/2} x^{2} \sin x \, dx$ = $x^{2} (-\cos x) \int_{0}^{\pi/2} + \int 2x \cos x \, dx$

 $= -\left[\left(\frac{\pi}{2}\right)^{2}\left(\cos\frac{\pi}{2} - \partial^{2}\cos\theta\right] + 2\left[x\sin x + \cos x\right]_{0}^{\pi/2}$ $= -\left(0 - 0\right) + 2\left[\frac{\pi}{2}\sin\frac{\pi}{2} + \cos\frac{\pi}{2} - 0 - 1\right]$ $= 2\left[\frac{\pi}{2}x1 + 0 - 1\right] = \pi - 2$ (ii) $I = \int_{0}^{\pi} \phi \sin^{2}\theta \cos \theta d\theta$

$$= O \frac{(\sin 0)^3}{3} \int_0^{\pi} - \int \frac{\sin^3 0}{3} d0$$

 $\begin{bmatrix} ij \int [f(x)]^{n} f'(x) dx = \frac{[f(x)]^{n+1}}{n+1}; n \neq -i \end{bmatrix}$ = $\frac{1}{3} \left[\pi \sin^{3} \pi - 0 \right] - \frac{1}{3} \int_{0}^{\pi} \left(\frac{3 \sin 0 - \sin 30}{4} \right) d0$

$$+\frac{1}{3}\left(\pi \times 0 - 0\right) - \frac{1}{12}\left[-3\cos \theta + \frac{\cos 3\theta}{3}\right]_{0}^{\pi}$$

 $= -\frac{1}{12} \left[-3\cos\pi + \frac{\cos 3\pi}{3} + 3\cos \theta - \frac{\cos \theta}{3} \right]$

$$= -\frac{1}{12} \left[-3 \left(-1 \right) - \frac{1}{3} + 3 - \frac{1}{3} \right]$$
$$= -\frac{1}{12} \left[6 - \frac{2}{3} \right] = -\frac{16}{36} = -\frac{4}{9}$$

$$\frac{fmg-g}{(l_1)} = \int_0^1 \sin^{(1)} \int \overline{x} \cdot \frac{1}{2} dx$$

$$= \left(\sin^{-1} \int \overline{x} \right) x \int_0^1 - \int_0^1 \frac{1}{\int 1 - (|\overline{x}|)^2} \cdot \frac{1}{2\int \overline{x}} \cdot x dx$$

$$= \left(\sin^{-1} L - \sin^{-1} 0 \right) - \frac{1}{2} \int_0^1 \frac{x dx}{x - x^2}$$

$$= \frac{\overline{x}}{2} + \frac{1}{4} \int_0^1 \frac{(-2x + 1 - 1) dx}{\int x - x^2}$$

$$= \frac{\overline{x}}{2} + \frac{1}{4} \int_0^1 (x - x^2)^{-\frac{1}{2}} (-2x + 1) dx$$

$$-\frac{1}{4}\int_{0}^{1}\frac{dx}{J-(x^{2}-x+\frac{1}{4}-\frac{1}{4})}$$

 $+\frac{1}{4} \frac{(\chi - \chi^{2})^{-\frac{1}{2} + 1}}{-\frac{1}{2} + 1} \int_{0}^{1} -\frac{1}{4} \int_{0}^{1} \frac{dx}{\int (\frac{1}{2})^{2} - (\chi - \frac{1}{2})^{2}}$ $=\frac{T}{2}$

$$= \frac{\pi}{2} + \frac{1}{4} (0 - 0) - \frac{1}{4} \sin^{-1} (2x - 1) \int_{0}^{1}$$

$$= \frac{\pi}{2} - \frac{1}{4} (2\sin^{-1} 1) = \frac{\pi}{2} - \frac{\pi}{4} = \frac{\pi}{4}$$
(ii) $I = \int_{0}^{1} \frac{(2)}{x^{2}} \sin^{-1} x dx_{1}$
(u) $I = \int_{0}^{1} \frac{(2)}{x^{2}} \sin^{-1} x dx_{1}$
(u) $I = \int_{0}^{1} \frac{(2)}{x^{2}} \sin^{-1} x dx_{1}$
(u) $I = \sin^{-1} x = 0 \Rightarrow x = \sin^{-1} 0$
 $= 5 dx = \cos^{-1} 0 = 0;$
(u) $I = x = 0 \Rightarrow 0 = 0;$
(u) $I = x = 1 \Rightarrow 0 = \frac{\pi}{2}$
 $S_{0} = I = \int_{0}^{12} \sin^{2} 0 \cdot 0 \cos^{-1} 0 d0$
 $= \int_{0}^{12} \frac{1}{2} \sin^{2} 0 \cdot 0 \cos^{-1} 0 d0$
 $= \int_{0}^{12} \frac{1}{2} \cdot (\sin^{2} \theta \cos^{-1} \theta - \frac{\pi}{2})^{2} \frac{\sin^{2} \theta}{3} d0$
 $= \int_{0}^{1} \frac{\pi}{6} (1)^{5} - 0_{1}^{2} - \frac{\pi}{3} \int_{0}^{\pi} \frac{1}{2} \frac{3\sin^{-1} 3}{4} d0$
 $= \frac{\pi}{6} - \frac{1}{12} \left[0 + 0 + 3 - \frac{1}{3} \right] = \frac{\pi}{6} - \frac{2}{9}$

Ans-10,

$$\frac{10}{(11)} \int_{0}^{6} 3x^{2} dx = 8$$

$$\Rightarrow 3\frac{x^{2}}{3} \int_{0}^{a} = 8 \Rightarrow a^{3} = 8$$

$$\Rightarrow (a-2) (a^{2}+2a+4) = 0$$

$$\Rightarrow a-2 = 0 \Rightarrow a = 2$$
since $a^{2} + 2a+4 = 0$ does not given any real
valued of a.

(iii)
$$\int_{a}^{b} x^{3} dx = 0$$

$$\Rightarrow \frac{x^{4}}{4} \int_{q}^{b} = 0 \Rightarrow \frac{1}{4} (b^{+} - a^{+}) = 0$$

$$\Rightarrow b^{+} - a^{+} = 0$$

$$\Rightarrow (b - q) (b + a) (b^{2} - a^{2}) = 0 - -(1)$$

$$\notin \int_{a}^{b} x^{2} dx = \frac{2}{3}$$

$$\Rightarrow \int_{a}^{3} -a^{3} = \frac{2}{3} \Rightarrow \frac{1}{3} (b^{3} - a^{3}) = \frac{2}{3}$$

$$\Rightarrow b^{3} - a^{3} = 2$$

$$\Rightarrow (b - a) (b^{2} + ab + a^{2}) = 2 - -(2)$$

from (1); $b - a = 0 \Rightarrow b = q$
So from (2); $0 - 2$; which w false.
when $b + q = 0 \Rightarrow b = -q$
So from (2); $(-2a) (q^{2} - q^{2} + q^{2}) = 2$

$$\Rightarrow -2a^{3} = 2$$

$$\Rightarrow a^{3} = -1 \Rightarrow a = -1$$

So $b = 1$
Addo $b^{2} + 2 = 0 + (b + a)(b^{2} + ab + a^{2}) = 2$
doet not given any read values of a and b.
(iii) after $f(x) = a + bx + cx^{2} - -ci$
LHS $= \int_{0}^{1} \int (x) dx = \int_{0}^{1} (a + bx + cx^{2}) dx = \left[ax + \frac{bx^{2}}{2} + \frac{cx^{2}}{3}\right]$
 $= a + \frac{b}{2} + \frac{c}{3}$
Putting $x = 0$ in eqn (1); $f(0) = a$
Putting $x = \frac{1}{2}$ in eqn (1);
 $\int (\frac{1}{2}) = a + \frac{b}{2} + \frac{c}{4}$
Putting $x = 1$ in eqn (1);
 $f(1) = -a + b + c$
R.H.S. $= \frac{1}{6} \left[f(0) + + f(\frac{1}{2}) + f(1)\right]$
 $= \frac{1}{6} \left[a + 4 \left(a + \frac{b}{2} + \frac{c}{4} + a + b + c\right]$
 $= \frac{1}{6} \left[6a + 3b + c\right] = a + \frac{b}{2} + \frac{c}{4}$
That L.H.S = R.H.S

Hence
$$\int_{0}^{1} f(x) dx = \frac{1}{6} \left[f(0) + 4 f(\frac{1}{2}) + f(1) \right]$$

$$\int_0^K \frac{dx}{2+8x^2} = \frac{\pi}{16}$$

in 1

$$\Rightarrow \frac{1}{8} \int_{0}^{K} \frac{dx}{x^{2} + (\frac{1}{2})^{2}} = \frac{\pi}{16}$$

=>
$$\frac{1}{8} \times \frac{1}{2}$$
 ten $\left(\frac{1}{12}\right) \int_{0}^{1} = \frac{\pi}{14}$

$$= \frac{1}{4} \left[\tan^{-1} (2k) - \tan^{-1} \sigma \right] = \frac{\pi}{16}$$

$$= \frac{1}{4} \left[\tan^{-1} (2k) - \tan^{-1} \sigma \right] = \frac{\pi}{16}$$

$$= \frac{1}{4} \left[\tan^{-1} (2k) - \tan^{-1} \sigma \right] = \frac{\pi}{16}$$

S